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c_
of]hgf tyf ;Dkbf cGtu{tsf gu/:t/Lo qmdfut of]hgfx? -

k'¤hLut cfGtl/s vr{_

s_ ef}lts lgdf{)f ;DaGwL gu/:t/Lo of]hgf

1 t/sf/L ahf/ k"jf{wf/ lgdf{)f -sfof{no ejg lgdf{)f_ 5  30,00,000  30,00,000

2 k|f+ufl/s dn k|zf]wg s]Gb|sf] k"jf{wf/ lgdf{)f sfo{ 10  75,00,000  75,00,000

3 e]n'v]ndf kfls{~ k"jf{wf/ lgdf{)f sfo{ 5  60,00,000  60,00,000

4 js{;k lgdf{)f 10  30,00,000  30,00,000

5 a]vfn :jf:Yo ;]jf s]Gb| ejg lgdf{)f sfo{ -rf}yf] r/)f_ 10  30,00,000  30,00,000

6 v¤rf k'v' :jf:Yo rf}sL lgdf{)f sfo{ -clGtd r/)f_ 7  75,00,000  75,00,000

7
lzt e)*f/)f u[x ejg lgdf{)f sfo{ -t];|f] r/)f_ 

-&]Ssf g+= bktmun/NCB/works/03/080/81_
8 1,00,00,000 1,00,00,000

8 c/lgsf] ;ef ejg lgdf{)f sfo{ -bf];|f] r/)f_ 6 8,00,00,000 8,00,00,000

hDdf 12,00,00,000 12,00,00,000

v_ ;Dkbf ;+/If)f ;DaGwL gu/:t/Lo of]hgf

1 OGb|fo)fL Bf]M%+¤ k'gMlgdf{)f -clGtd r/)f_ 2  30,00,000  30,00,000

2 Ovfnf%L d& k'gMlgdf{)f sfo{ -kfrf} r/)f_ 4 1,60,00,000 1,60,00,000

3 yy' b/jf/ k'gM lgdf{)f cfof]hgf -bf]>f] r/)f_ 3 3,00,00,000 3,00,00,000

4 nfos' kfxf%] k'gM lgdf{)f 3  85,00,000  85,00,000

5 ;Nnf u)f]z kf]v/L lh)ff]{$f/ 9  20,00,000  20,00,000

hDdf 5,95,00,000 5,95,00,000

hDdf -s + v_ 17,95,00,000 17,95,00,000

cf_ afx\o ;|f]tåf/f ;`rfng x'g] of]hgfx? -k'¤hLut vr{_

s_ ;+#Lo ;/sf/ -/fli^<o of]hgf cfof]u_

1 ;dk'/s cg'bfg 

1=1 c/lgsf] ;efu[x ejg lgdf{)f sfo{ 6 6,90,00,000 1,38,00,000 5,52,00,000

2 laz]if cg'bfg 

2=1 af(LAff^ Ifltu|:t k"jf{wf/x?sf] k'gM lgdf{)f 8  68,00,000  68,00,000

3 ;zt{ cg'bfg 

3=1
eQmk'/ lhNnf eQmk'/ gkf j*f g+= 1 efjf{rf]l:yt tsf]lsjf -

gof¤ a;kfs{_ df ax'p@]ZoLo ejg lgdf{)f sfo{
1 1,25,00,000  25,00,000 1,00,00,000

3=2 dx]Gb| dfWolds ljBfnob]lv ;f¤uf dxfb]j d"lt{;Dd ;*s, eQmk'/  40,00,000  40,00,000

3=3 xg'dGt] /ftf] k'nleqL aflx/L ;*s :t/f]Gglt dxfnIdLF5, eQmk'/  25,00,000  25,00,000

3=4
eQmk'/ lhNnf eQmk'/ gu/kflnsf j*f g+= 7 dfxfv]n a'$ 

ljxf/ k"jf{wf/ :t/f]Gglt 
 40,00,000  40,00,000

hDdf 9,88,00,000 3,36,00,000 6,52,00,000

eQmk'/ gu/kflnsfsf] cf=j= 2082.83 sf nflu k'¤hLut vr{tkm{sf of]hgfx?    अनसूुचि-४
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v_ afudlt k|b]z 

1 ;dk'/s cg'bfg 

1=1 Vjk c:ktfn kl/;/df ;xfos k"jf{wf/ lgdf{)f sfo{ 9 2,95,00,000  59,00,000 2,36,00,000

1=2 wfnfv';Lb]lv tkfs];Ddsf] ;*s :t/f]Gglt sfo{ 1 2,95,00,000  59,00,000 2,36,00,000

1=3 tf/f dfljsf] nflu ejg lgdf{)f ug{] of]hgf 4 2,45,00,000  49,00,000 1,96,00,000

2 ljz]if cg'bfg 

2=1
l;nv]b]lv sdnljgfos;Dd vfg]kfgL kfOknfOg tyf k|zf]wg 

KnfG^ h*fg sfo{
10  65,00,000  65,00,000

3 ;zt{ cg'bfg 

3=1
eQmk'/ gu/kflnsf leqsf] P]ltxfl;s ('é]wf/fx?sf] dd{t / 

;+/If)f -Rof;L d)*k ;+u} sf] ('é]wf/f _
 25,00,000  25,00,000

3=2
zflGt ;'/Iff tyf ck/fw lgoGq)fsf nflu a;kfs{ If]qdf High 

mast light / CCTV vl/b h*fg
 15,00,000  15,00,000

hDdf 9,40,00,000 2,72,00,000 6,68,00,000

u_ ;*s af]*{ g]kfn    

1 t]vfk'v'b]lv Rj~f u)f]z Bf]%]¤;Ddsf] ('éf %kfO{ af^f] dd{t sfo{ 1  10,00,000  7,00,000  3,00,000

2 O^f%]¤b]lv t¤Sj;Ddsf] ('éf %kfO{ af^f] dd{t sfo{ 2  10,00,000  7,00,000  3,00,000

3 jfl;s ^f]nsf] af^f]sf] k]^Lx?df OG^/nlsé Ans %kfO{ sfo{ 3  10,00,000  7,00,000  3,00,000

4
y'rf] rf]sb]lv d+untLy{sf] (\jfsf;Ddsf] ('éf %kfO{ af^f] dd{t 

sfo{
4  10,00,000  7,00,000  3,00,000

5 lqk'/f;'Gb/L dlGb/b]lv ;'s'n(f];Ddsf] ('éf %kfO{ af^f] dd{t sfo{ 5  10,00,000  7,00,000  3,00,000

6 dxfsfnLaf^ c¤rf k'v' hfg] cf]/fnf] af^f] ('éf dd{t sfo{ 6  10,00,000  7,00,000  3,00,000

7 l;l$ u)f]z Bf]%]¤b]lv k'v'rf;Ddsf] ('éf %kfO{ af^f] dd{t sfo{ 7  10,00,000  7,00,000  3,00,000

8 lnjfnL Knflgédf u|fe]ln~ ug]{ sfo{ 8  10,00,000  7,00,000  3,00,000

9 ;sf]nfgb]lv ;Nnf u)f]z;Ddsf] ('éf %kfO{ af^f] dd{t sfo{ 9  10,00,000  7,00,000  3,00,000

10 by'Tjrfb]lv gfukf]v/L;Ddsf] ('éf %kfO{ af^f] dd{t sfo{ 10  10,00,000  7,00,000  3,00,000

hDdf 1,00,00,000  70,00,000  30,00,000

hDdf -s + v + u_ 20,28,00,000 6,78,00,000 13,50,00,000

O_
 cfGtl/s ;|f]tåf/f ;`rfng x'g] of]hgfx?

-k'¤hLut vr{_ 

s_ ef}lts k"jf{wf/ tyf lgdf{)f

1 b]sf] ldjf Otfkfs] hUuf PsLs/)f cfof]hgf 2, 6 4,00,00,000 4,00,00,000

2 ;*s :t/f]GttL of]hgf -lkr sfo{_ gkf 1,00,00,000 1,00,00,000

3 vfg]kfgL k"jf{wf/ ljsf; of]hgf gkf  50,00,000  50,00,000

4 (n lgsfz k"jf{wf/ lgdf{)f of]hgf gkf  30,00,000  30,00,000

5 v]ns'b k"jf{wf/ lgdf{)f sfo{ -km'T;n lgdf{)f nufot_ gkf  50,00,000  50,00,000

6 ljBfno ef}lts k"jf{wf/ lgdf{)f sfo{ gkf 2,00,00,000 2,00,00,000

7 jftfj/)fLo ;'wf/ tyf Joj:yfkg sfo{ gkf  50,00,000  50,00,000

8 vf]nf lgoGq)fsf nflu l/ ]̂lg+u jfn lgdf{)f sfo{ gkf 2,00,00,000 2,00,00,000

9 vf]nf tyf #f^ ;'wf/ sfo{ gkf  75,00,000  75,00,000
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10 kz' jwzfnf gdf{)f gkf  25,00,000  25,00,000

11 ljkb Joj:yfkg sfo{ gkf  50,00,000  50,00,000

12 efHof k'v'Msf] blIf)ftkm{sf] af^f]df ('éf %kfO{ 1  55,00,000  55,00,000

13 lzz' :ofxf/ tyf afnljsf; s]Gb| k"jf{wf/ ljsf; 10  50,00,000  50,00,000

14 cfb/ lgs]tg k"jf{wf/ ljsf; tyf kmflg{r/ vl/b 6  50,00,000  50,00,000

15
lzt e)*f/)f u[xsf] kl/;/df sDkfp)* jfn tyf <̂fG;kmd{/ 

h*fg sfo{
8  50,00,000  50,00,000

16 afn pBfg k"jf{wf/ ljsf; gkf  25,00,000  25,00,000

hDdf 14,60,00,000 14,60,00,000

v_ ;Dkbf lh)ff]{$f/ tyf k'gM lgdf{)f 

1 gu/ :t/Lo ;Dkbf lh)ff]{$f/ tyf k'gM lgdf{)f

1=1 lglh ;f+:s[lts #/ g=kf=n] cfkm}n] lh)ff]{$f/ tyf k'gM lgdf{)f gkf 1,00,00,000 1,00,00,000

1=2 l;$kf]v/L k]^L k'gM lgdf{)f 1 1,00,00,000 1,00,00,000

1=3 bxLljgfos Bf] %] k'gMlgdf{)f sfo{ 5  50,00,000  50,00,000

1=4 Ozfg]Zj/ dlGb/ 1  30,00,000  30,00,000

1=5 k|bz{gL s]Gb| lgdf{)f 2  30,00,000  30,00,000

2 j*fut ;Dkbf lh)ff]{$f/ tyf k'gM lgdf{)f

2=1 gM k'v' kvf{n k'gM lgdf{)f sfo{ 1  20,00,000  20,00,000

2=2 nf¤rf kmNrf k'gMlgdf{)f sfo{ 2  20,00,000  20,00,000

2=3 d+untLy{ :gfg:yn k'gMlgdf{)f sfo{ 3  20,00,000  20,00,000

2=4 tfnfSj b+kmf]df /x]sf] kf^L / uf]/vgfy dlGb/ k'gMlgdf{)f sfo{ 4  20,00,000  20,00,000

2=5 ef]vfBf] blIf)fk§Lsf] kf^L k'gMlgdf{)f sfo{ 5  20,00,000  20,00,000

2=6 ;'Gb/L uf]kfn dlGb/ k'gMlgdf{)f sfo{ 6  10,00,000  10,00,000

2=6=1 la;'¤ knL tyf ofnf%] kf^L k'gMlgdf{)f sfo{ 6  10,00,000  10,00,000

2=7 v¤rf kf^L k'gMlgdf{)f sfo{ 7  20,00,000  20,00,000

2=8 GofsL bx gf/fo)f dlGb/ k'gMlgdf{)f sfo{ 8  20,00,000  20,00,000

2=9 ;nf¤ u)f]z dlGb/ k%fl*sf] kf^L k'gMlgdf{)f sfo{ 9  7,00,000  7,00,000

2=9=1 b]uOgf u)f]z dlGb/ k'gMlgdf{)f sfo{  13,00,000  13,00,000

2=10 a]vfn Hofv' kf^L k'gMlgdf{)f sfo{ 10  20,00,000  20,00,000

hDdf -v=1 + v=2_ 5,10,00,000 5,10,00,000

u_ j*f:t/Lo of]hgfx?

1 j*f g+ 1 1  50,00,000  50,00,000

2 j*f g+ 2 2  50,00,000  50,00,000

3 j*f g+ 3 3  50,00,000  50,00,000

4 j*f g+ 4 4  50,00,000  50,00,000

5 j*f g+ 5 5  50,00,000  50,00,000

6 j*f g+ 6 6  50,00,000  50,00,000

7 j*f g+ 7 7  50,00,000  50,00,000

8 j*f g+ 8 8  50,00,000  50,00,000

9 j*f g+ 9 9  50,00,000  50,00,000

10 j*f g+ 10 10  50,00,000  50,00,000

hDdf 5,00,00,000 5,00,00,000

hDdf -s + v + u_ 24,70,00,000 24,70,00,000

अनसूुचि-5
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O{_ ljljw of]hgfx? -cfGtl/s >f]taf^ k'¤hLut vr{{_

1 dx]Zj/L v]n d}bfg 7 2,00,00,000 2,00,00,000

2 zlxb :d[lt v]n d}bfg :^]l*od lgdf{)f 2 1,00,00,000 1,00,00,000

3 GPS k|)ffnL ;lxt cfw'lgs &]ufgf k|)ffnL gkf  25,00,000  25,00,000

4 kf}*L k|lzIf)f k"jf{wf/ lgdf{)f gkf  50,00,000  50,00,000

5 cGo of]hgfx?sf] af¤sL e'QmfgL gkf 2,00,00,000 2,00,00,000

6 k/Dk/fut z}nLdf #/ lgdf{)f cg'bfg gkf  30,00,000  30,00,000

7 klt{ hUuf ;+/If)f tyf l;df~\sg gkf  30,00,000  30,00,000

8
k/fdz{ ;]jf -df^f] k/LIf)f, *LkLcf/, ;DefJotf cWoog, 

jftfj/)fLo k|efj d"Nof~\sg, cflb_ 
gkf  20,00,000  20,00,000

9 cg';Gwfg s]Gb| gkf  50,00,000  50,00,000

10 l; l; Sofd]/f h*fg tyf dd{t gkf  50,00,000  50,00,000

11
;Dkbf If]qdf aQL Joj:yfkg tyf ;*s aQL h*fg / dd{t 

sfo{
gkf 1,00,00,000 1,00,00,000

hDdf 8,55,00,000 8,55,00,000

p_ dd{t sfo{ -cfGtl/s ;|f]taf^ k'¤hLut vr{{_ gkf 1,00,00,000 1,00,00,000

pm_
sfof{nosf] cGo k'¤hLut vr{tkm{ -cfGtl/s ;|f]taf^ k'¤hLut 

vr{{_

1 kmlg{r/ gkf  50,00,000  50,00,000

2 ;jf/L ;fwg gkf 1,00,00,000 1,00,00,000

3 d]lzg/L cf}hf/ tyf pks/)f gkf 2,00,00,000 2,00,00,000

4 e}k/L cfpg] k"lhut gkf  50,00,000  50,00,000

5 hUuf v/Lb gkf 4,00,00,000 4,00,00,000

hDdf 8,00,00,000 8,00,00,000

s'n k'¤hLut vr{ hDdf 

-c + cf + O + O{ + p + pm_
80,48,00,000 6,78,00,000 73,70,00,000
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